1.1 Arithmetic Sequences

Arithmetic Sequence is a sequence in which the difference between consecutive terms is

constant

In the sequence: 4,7,10,13, 16,19, ...

The first term is represented by: 'ln tl = 4

NN
The common difference is represented by: CI 3 d = 4, - ‘|=|
It can either be positive or negative. d + 3

The formula that allows you to find any term in the sequence is called:

THE GENERAL TERM m

Where: t, is the firsl‘ term of the sequence.

Where: n is the ngmbcr of terms in the sequence.

Where: d is the ¢ m ] 4 etween the terms.

Where: t, is the value of the n*" term OR is the General Term of the sequence.

Example 1: Find the value of the 17t term for the following arithmetic sequence: 4, 7, 10, 13, 16, 19, ...
A e

4 - 4 8 = &+ (n-1)d

d=3

tn = 4 4 (7-1)(3)
n=n

th = 4 + (1L)13)

th = 4+ 48

Example 2: Given the following arithmetic sequence: -3,2,7,12, ...

d) Determine 1 (the 20t term) b) Which term has a value of 2122
rl;l th - ) +(n1)d bn="? . ‘tnt - d
= - - = +(N=
t)=-3 1 = -3 + (20-1)(5) ti=-3 " ' (.)a
des d=5s 212 = -3 + (n-1)(5)
Dol fh =212 212:-3 +5n-5
= = 212 s - n -
h=20 = -3495

n=2 212 -8 +5n
’ +93 +3
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Example 3: Two terms in an arithmetic sequence are: t; =4 and tg =34 . Whatis:

a) d ’ , :’ ) ’ ) ’ ’ i'l'
B s
n=3
when Nz3 : 4, : ,+ (n-1d n=8: tg=t,+(8-1)d

Gz equation T

Use subshivhon or eliminahon t solw for d (and )

34 = t,+1d
—( 4:¢ +2d)

0= 54
S 5

((, = d ) common
du'{l'-enencc

b)t, USe eqoa‘h‘m lor 2 ¢, (General Term)

from part (a) b ) Yowr answer will have
solve  for ¢, "nN" in + since we aren't
4 - &, + 24 ft’ndfng an exact +erm
value .
4 = +, +2(¢
. t' © tn = & + (n-1)d
: + 12 ?

-1 ‘ _— ‘:n = -8 + (n- (6)

th: -8 + 6n-0
Practice: p.16 #1ad, 2, 3, 4, 5ab, é6a, 9, 10, 16 o

e t'\ e bn- ||4
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